
Prüfungsaufgaben Aufgabe 190b 

 
 

 
 

3.1 

 
Im Dreieck EFM gilt: 

 
                ME 

sin 52° = ----- | * EF 
                EF   

 

ME = EF * sin 52° = 3,8 cm * sin 52° = 3 cm 

 

Strahlensatz: 
 

EB = 2 * EM = 2 * 3 cm = 6 cm 



DC      DF 

---- = ---- | * EB 
EB      EF  

 
          DF * EB      9,5 cm * 6 cm   

DC = ---------- = ----------------- = 15 cm 

              EF               3,8 cm  
 

3.2 

 

Satz von Pythagoras im Dreieck ABM: 
 

AB² = AM² + BM² = 14,5² + 3² cm² = 219,25 cm² |ⱱ 
 

AB = 14,8 cm 
 

O = AMantel1 + AMantel2 - AMantel3 + AKreis 
 

DN = DC/2 = 15 cm/2 = 7,5 cm 
 

AMantel1 = π * DN * DF = π * 7,5 cm * 9,5 cm = 223,7 cm² 

 
AMantel2 = π * EM * AB = π * 3 cm * 14,8 cm = 139,4 cm² 

 
AMantel3 = π * EM * EF = π * 3 cm * 3,8 cm = 35,8 cm² 

 
AKreis = π * DH² = π * 7,5² cm² = 176,6 cm² 

 
O = 223,7 cm² + 139,4 cm² -35,8 cm² + 176,6 cm² = 503,9 cm² 

 


